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QUESTION 1

When creating new NE, which of the following Configuration Mode can be selected?
A. Initialize and Manually Configure NE Data

B. Download

C. Upload

D. Copy NE Data

Correct Answer: D

QUESTION 2

Which of the following statements about the modulation technologies of the 40Gbit/s and 100Gbit/s coherent systems
are correct?

A. The modulation technology used in a 100G coherent system is ePDM-QPSK.
B. The modulation technology used in a 40G coherent system is ePDM-BPSK.
C. The modulation technology used in a 40G coherent system is ePDM-QPSK.
D. The modulation technology used in a 100G coherent system is ePDM-BPSK.

Correct Answer: A

QUESTION 3

Which of the following functions is added to EX40 compared with X407?
A. Monitors the optical power of a single channel.

B. Supports optical-layer cross-connections.

C. Fewer slots are occupied.

D. More multiplexed and demultiplexed wavelengths

Correct Answer: A

QUESTION 4

Loopback is a common operation for routine maintenance and troubleshooting. Which of the following statements about
loopback operations are incorrect?

A. The hardware loopback is performed by using the fiber jumper or self-loop cable to perform the loopback on the
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optical port or electrical port.

B. When performing a hardware loopback on an optical port, you need to add an optical attenuator.
C. After the outloop is performed, the signals are transmitted to the internal.

D. After the inloop is performed, the signals are transmitted to the external.

Correct Answer: D

QUESTION 5

If tunnel APS is configured for the tunnel to which the PW belongs, PW APS cannot be configured for the PW.
A. True

B. False

Correct Answer: A
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